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He inverted the n7m> to land on its opening — 17D By IINDD

Overview

The X713 taught that if he threw the N> with the open side down then if it
1S XM 7Yaw he 1s Mo however if it 1s WM AYaw he is 27n.

MooIN maintains that the °1>7 of "1 7% ¥ nxkod follow the same pattern as
the previous 2°1°7 of »aX, namely that the 791 21’1 depends if the N is
deemed a "7 when it lands.

The question then arises, why 7Xmn1 7vaw is deemed a °"737, and Wwn 7vaw
is not deemed a *"'117; seemingly in both cases the 1>7 of 712 should be able to
extend the Mx° nn to the necessary ten 01oY required to consider it a *"77.
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The X''2°1 maintains, that this statement: 121 7°9 9 X892, is referring to the

case where the N2 was six 0'mov wide? (so there is the necessary area to

form a °"77, nevertheless) even when the height of the N> is at most a bit

more that seven 2°11ov, he is still 2997, because it is still considered as if it landed

in a 1"77 (as opposed to where the N> was 7% Avaw [see following '01n]). The reason
1S -
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For when the partitions of the n7m, come within three 2°rov from the

ground, the N> of the N7 are not ten onov high (even with adding a bit less

than three 2’nov on account of T2%), and therefore it is not a *"777, as in the case of vaw
axna.

mooIn anticipates the following question: If the nM>7 M¥°nn are WwM 7vaw, and if as
soon as it is a Wow 7 Mwn we say 717, then it seems that there is a height of ten o°nov;
seven of the N3 and three on account of T2%, so why is he 2>r; it should be considered
as if it landed in a *";17? Moo explains:
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for the thickness of the base (in this case of the inverted nam> — the top)

' moown disagrees with 789 7"72 *"w who maintains that we are discussing a N3 which is not 1 72m
and he is MWD because —on account of 727 — it is considered as if it landed "n 75¥n? (see Har 73"7 °"wA), for
as NdOIN states later vaw 13"72 that if it is not 1 2M7 it is 7127 139K XY XNOYT D°¥O7 INRWD.

% See ([‘Overview to] ('xiT) 7am1 71"7 'on and) ‘Thinking it over’ # 1.

? See the following f¥ma ayaw "7 'oIn.
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cannot be combined with the walls of the N> to provide us with the
necessary ten 2°1ov, for we require a 7251 which ‘sees’ the inner airspace
of the utensil (i.e. the n1M2);* that this aforementioned 7¥°’1n be ten 2ndY
high, and since the oW are by definition not *237 9”& nX X1, therefore they are not
part of the mx°nn. The total height of the mx>r» which are >2277 27X 11X are therefore less
that seven o°nov, for we subtract the height (thickness) of the 0»"w, hence even after

adding the three o°’ndv of 7125, we still do not have ten 2°19v to consider the NN D as
a"m.

mooIn anticipates the following question:
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and even though where the nam> itself is exactly ten o°15v high we do
combine the base with the mx°rn, to confer the status of a 5''/19 on the top
of the n7112, that since the N2 is ten 2°19Y high if one places an object on the top of the
inverted N> it will be deemed as if he placed it in a >"717. We know this to be true from
what we previously learnt —
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as was previously said: ‘A house, which inside it is not ten 2’1750 high,
etc.’ but combined with the thickness of the roof there is a height of ten 2’nov from the

roof to the ground, the 17 is that on the roof, it is a valid >"77, and similarly here on the
inverted M, if it were ten 2°19Y high, the top of the N> would be a °"77, which means
that we do combine the thickness of the roof or the base with the mx°nn, to provide the
necessary ten 0’1o,
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And since the top of the nam1> is a v''119, one who throws this n7112 from a

MO S 61ma, then why in the case of ywm nvaw, do we not consider the o> Wi 21 as
part of the mynn?’

mooIn responds:

* This means that only that part of the 73°n», which encircles the inner ‘airspace’ of the a3, is deemed a
nyma. The 7¥onn which is part of the 2»9w *2w, however, encircles the material of the 2»?w and not the
inner ‘airspace’ of the n1>.

5 M5y 5733 39 R 2,797

% As the X3 previously taught that mws 121  ma3, and as (‘27 7277 7"7) 'on explained because it is
considered as if it landed in a *"7n.

" What difference is there if the ten 0°nov are from the N3 itself, or if the ten oMo are a combination of
17wm 7vaw from the nNMo and wow from 7127 n7n? Why in one case do we count the 29w 239 and not in
the other?
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Nevertheless, the case of wn 7vaw is different, since the n711> by itself is
not ten 2°15v high, it is being considered ten o°119v high, only on account of
7129, therefore we cannot combine this airspace of less than three onov to
complete the required ten 'Y, according to the guidelines of 7127 -
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Unless the total height of the mx>n» (including the three o°now of 21%) will
be ten 2°119v high besides the base
— 709093 Y97 "MYrNma NIN 1aY 1359 N7
For we do not apply the rule of 712% unless there are proper nm3°n» of ten
0 1oY total that are 7R °15 X7 as ¥''w1 explains.

mdoINn proves his point:
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You can know that what was said is true, because in a righted N> where
the base is on the bottom, we do not apply the rule of 712%, i.e. that even if it
was more that seven (and a half) o’nov high he will still be 2°11; we do not combine the
necessary additional three 2°19v on account of 7127 (as in the case of an inverted n71),
because since the base is on the bottom there are no discernible Mx°m» as the NMd is
coming to land within the three onov (the ‘ground’ so to speak, ‘sees’ only D»W
approaching, but no mx°n»), so we cannot say 712%, similarly here since when it reaches
within the three o°1dv, we do not ‘see’ (peering from the ground up into the nM2) Mx°nn
of ten o'oY, because the M¥ i of the 27w "2y are not encircling ‘airspace’ and cannot
be ‘seen’, therefore we do not say 712

SUMMARY

In order to extend mx°n» that are less than ten 2’19V to be considered as if
they are ten 0°nov high, through 72% nMn, it is required that there be valid
mxema of 1wm nyaw that are 97X7 10 X1, otherwise we do not say T25.
Therefore the 0»7w of a 75 cannot be part of the mwn nvaw required for
727 7.

THINKING IT OVER

¥ See “Thinking it over’ # 2.
? See max var 7" v,
' See “Thinking it over’ # 3.
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1. In order to say 727 do we require an airspace of 0°mou '7 or can it be '7
o mov including the thickness of the walls (does the N> need to be 21"
Haww [for we need an airspace of '7] or can it be wide o°rov 17 and “wnan '
nov)?'?

2. How is it that M50I1n maintains that if there are no 7wy Mx°n» we do not
say 'a mno1 71:1‘7,13 when there are 0°1°7, that when an object is '\ Mno from
the ground we consider it as if it is on the ground,'* even though there are no
mxemn (at all)?

3. How can we differentiate (as opposed to Mmoo proof)'® concerning 7127
between a N> that is landing on its »9W, to an inverted N> that is 7vaw
wm?'’

4. Ts Mmoo saying that since we do not consider the 0”7 °21v, therefore
we do not have "™ mMx iy, or is MdOIN saying that since we do not consider
0917 °2W then we do not say T2% and we have mg°nn less than 7vaw? And
71 Rpd1 k1Y between these two approaches?

' See footnote # 2.

12 See wx mann.

13 See footnote # 8.

' See for instance the X713 on &, that 7221 '\ un? 17> HWHWW 199, ete.
15 See a1 71"7 102 M Sw naw and Hax 7"7°"wA 772 DK Y.

16 See footnote # 10.

17 See w"x77 'on.
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